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1. ÍÛ×ÉÛÛéµÛ¶Û …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà ›ä÷þùà-›ä÷þùà ¸Û±ùÜ©Û…Ûé ÜÈÛ•Û©Ûé ÍÛ¾Û›ÛÈÛÛé. 14 

 What is Research ? Explain in detail the methods of Research.  

    …¬ÛÈÛÛ/OR 

 (a) ÍÛ¾ÛÜÌ¤ø ©Û¸ÛÛÍÛ …¶Ûé Ü¶ÛþùÉÛÙ ©Û¸ÛÛÍÛ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û …Û¸ÛÛé. 
  Give the difference between Population survey and Sample survey. 

 (b) Í©ÛÜÁõ©Û Ü¶ÛþùÉÛÙ¶Û …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ ÅÛÛ½ÛÛé …¶Ûé •ÛéÁõÅÛÛ½ÛÛé ›÷¨ÛÛÈÛÛé. 
  What is stratified sampling ? Give its advantages and limitations. 

 

2. (a) ›Ûé ÍÛà¾ÛÛ¶©Û ”Û˜ÛÙ ÜÈÛµÛéýÛ MC = 100 – 10x + 
x

2

10
  ÐüÛéýÛ …¶Ûé ÜÍ¬ÛÁõ ”Û˜ÛÙ ` 500 ÐüÛéýÛ ©ÛÛé ïäõÅÛ 

”Û˜ÛÙ …¶Ûé ÍÛÁéõÁõÛÉÛ ”Û˜ÛÙ ÉÛÛéµÛÛé.   7 

  If marginal cost function MC = 100 – 10x + 
x

2

10
 . Obtain total cost and average cost 

if fixed cost is ` 500.  

 (b) ÜÈÛµÛéýÛ¶ÛÛ ¸ÛóïõÛÁõÛé ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 7 

  Explain the types of function with illustrations.  

     …¬ÛÈÛÛ/OR 

 (a) ÍÛ×ïõÅÛ¶Û¶ÛÛ Ü¶ÛýÛ¾ÛÛé ›÷¨ÛÛÈÛÛé.  

  State the rules of integration.  

 (b) ¶Ûà˜Ûé¶ÛÛ¶Ûà Ýïõ¾Û©Û ÉÛÛéµÛÛé. 
  Find out the value of following :  

  (1) 
⌡

⌠
 

 
.

.
(x2 – x–1) dx 

  (2) 
⌡

⌠
 

 
.

.
(5 – 3x + x3) dx 

  (3) 
⌡

⌠

3

6

 
.

.
 x3 dx 
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3. ¸ÛÜÁõïõÅ¸Û¶ÛÛ ¸ÛÁõà“Û¨Û¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ¶Ûà˜Ûé¶ÛÛ ”ýÛÛÅÛÛé ÍÛ¾Û›ÛÈÛÛé. 14 

 In the context of testing of hypothesis, explain the following concepts :  

 (a) Ü¶ÛÁõÛïõÁõ¨ÛàýÛ ©Û¬ÛÛ ÈÛíéïõÜÅ¸Ûïõ ¸ÛÜÁõïõÅ¸Û¶ÛÛ 

  Null and alternative hypothesis. 

 (b) ÍÈÛÛ©Û×ªÛ©ÛÛ¶Ûà ¾ÛÛªÛÛ 

  Degree of freedom. 

 (c) ¸ÛóïõÛÁõ I …¶Ûé ¸ÛóïõÛÁõ-II ¶Ûà ªÛäÜ¤ø…Ûé 

  Type-I and Type-II errors. 

    …¬ÛÈÛÛ/OR 

 (a) …éïõ ©ÛÁõºõ¶Ûä× ¸ÛÜÁõ“Û¨Û …¶Ûé ¼Ûé ©ÛÁõºõ¶Ûä× ¸ÛÁõà“Û¨Û ÜÈÛ•Û©Ûé ÍÛ¾Û›ÛÈÛÛé. 7 

  Explain the one tail and two tail test.  

 (b) F-ÜÈÛ©ÛÁõ¨Û ÜÈÛÉÛé ÍÛ×Ü“Û¸©Û¾ÛÛ× ¶ÛÛêµÛ ÅÛ”ÛÛé. 7  

  Write a brief note on F-distribution.  

 

4. ÜÈÛ˜ÛÁõ¨Û¶ÛÛ ÜÈÛÉÅÛéÌÛ¨Û ¸ÛÁõ ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 14 

 Write a note on analysis of variance.  

    …¬ÛÈÛÛ/OR 

 ÍÛÐüÜÈÛ˜ÛÁõ¨Û¶ÛÛ ÜÈÛÉÅÛéÌÛ¨Û ¸ÛÁõ ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 Write a note on analysis of Co-variance.  

 

5. ¶Ûà˜Ûé …Û¸ÛéÅÛ ÈÛíéïõÜÅ¸Ûïõ ¸ÛóÊ¶ÛÛé¶ÛÛ ÍÛÛ˜ÛÛ ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõà ©Ûé¶ÛÛé ¹ïõ©Û (a, b, c, d) ©Û¾ÛÛÁõà Š«ÛÁõÈÛÐüà¾ÛÛ× 
ÅÛ”ÛÛé. 

 For each of the following questions, choose the best answer and write only its number          

(a, b, c, d) in your answer book. 14 

 (1) g(x) = 1, x ∈ N …é ________ ™öé. 

  (a) ÍÛ¾ÛÛ¶Û ÜÈÛµÛéýÛ (b) …˜ÛÇ ÜÈÛµÛéýÛ 

  (c) ÍÛäÁéõ”Û ÜÈÛµÛéýÛ (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 

  g(x) = 1, x ∈ N is a  

  (a) Equal function (b) Constant function 

  (c) Linear function (d) None of the above 
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 (2) ›Ûé y = ax (šýÛÛ× a µÛ¶Û¸Ûæ̈ ÛÛÚïõ ÍÛ×”ýÛÛ) ÐüÛéýÛ ©ÛÛé 
dy

dx
 = ________. 

  If y = ax (where a is positive number) then 
dy

dx
 =  

  (a) logea  (b) ex logea  

  (c) ax logea (d) ax 

 

 (3) ›Ûé y = (3x
2 – 2) (x2 + 7) ÐüÛéýÛ ©ÛÛé 

dy

dx
 = ________   

  If y = (3x
2 – 2) (x2 + 7) then 

dy

dx
 = ________ 

  (a) 6x
3 + 42x (b) – 4x + 3x

2 

  (c) 12x + 38 (d) 12x
3 + 38x 

 

 (4) χ2 ¶Ûà Ýïõ¾Û©ÛÛé ÐüÛéýÛ ™öé. 

  (a) 0 ¬Ûà ∞ (b) – ∞ ¬Ûà 0 

  (c) – ∞ ¬Ûà + ∞ (d) – 1 ¬Ûà + 1 

  The value of χ2 is  

  (a) 0 to  ∞ (b) – ∞ to 0 

  (c) – ∞ to + ∞ (d) – 1 to + 1 

 

 (5) χ2 ÜÈÛ©ÛÁõ¨Û¶ÛÛé ¾ÛµýÛïõ ™öé. 

  (a) ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ¾ÛÛªÛÛ (b) np 

  (c) ÍÈÛ©Û×ªÛ©ÛÛ¶Ûà ¾ÛÛªÛÛ (d) m 

  The mean of χ2 distribution is 

  (a) degree of significance (b) np 

  (c) degree of freedom (d) m 
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 (6) Ü¶ÛþùÉÛÙ ³ùÛÁõÛ ¸ÛóÛ¸©Û ¬Û©ÛÛ ¸ÛäÁõÛÈÛÛ ¸ÛÜÁõïõÅ¸Û¶ÛÛ¶Ûé ¶ÛïõÛÁéõ ™öé. 

  (a) ¸ÛÜÁõïõÅ¸Û¶ÛÛ ›÷ …ÍÛ×½ÛÜÈÛ©Û ÐüÛéýÛ.  

  (b) ¸ÛÜÁõïõÅ¸Û¶ÛÛ 50% ïõÁõ©ÛÛ …Ûé™öà ÍÛ×½ÛÛÈÛ¶ÛÛ…é ÍÛÛ˜Ûà ¸Û¦éø ©Ûé¾Û ÐüÛéýÛ. 

  (c) ¸ÛÜÁõïõÅ¸Û¶ÛÛ ÍÛÛ˜Ûà ÐüÛéýÛ ©ÛÛé Ü¶ÛþùÉÛÙ ¸ÛÜÁõ¨ÛÛ¾ÛÛé …ÛÈÛÛ ¾ÛÆýÛÛ ¶Û ÐüÛé©Û.   

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 

  Proof obtain by sample, rejects the null hypothesis  

  (a) Hypothesis is impossible  

  (b) Hypothesis is correct with less than 50% possibility 

  (c) It hypothesis was true, then the sample result would not have been like this. 

  (d)  None of the above 

 

 (7) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÍÛæªÛ χ2 – ÜÈÛ©ÛÁõ¨Û¶Ûä× ™öé. 

  The formula of χ2 – distribution is 

  (a) χ2 = 

n
∑
i=1

 (oi – ei)

oi
 (b) χ2 = 

n
∑
i=1

 
(oi – ei)

2

ei
 

  (c) χ2 = 

∞

∑
i=1

 (oi – ei)
2

ei
 (d) χ2 = 

n
∑
i=1

 
(ei – oi)

2

ei
 

 

 (8) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÍÛæªÛ t-ÜÈÛ©ÛÁõ¨Û¶Ûä× ™öé. 

  The formula of t-distribution is 

  (a) t = 
X – µ

S/ n
  (b) t = 

σ – µ

S/ σ
  

  (c) t = 

–
X – µ

S/ n
 (d) t = 

–
X – σ

S/ v
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 (9) F-ÜÈÛ©ÛÁõ¨Û¶Ûà Ýïõ¾Û©Û ÐüÛéýÛ ™öé. 

  (a) 0 ¬Ûà ∞ (b) – ∞ ¬Ûà + ∞ 

  (c) 0 ¬Ûà 1 (d) –1 ¬Ûà +1 

  The value of F-distribution is 

  (a) 0 to ∞ (b) – ∞ to + ∞ 

  (c) 0 to 1 (d) –1 to +1 

 

 (10) ÜÈÛ˜ÛÁõ¨Û ¸Ûè¬¬ÛïõÁõ¨Û¶Ûà ¸Û±ùÜ©Û îýÛÛÁéõ Š¸ÛýÛÛé•Û ¬ÛÛýÛ ™öé ? 

  (a) ¼Ûé ïéõ ©Ûé¬Ûà ÈÛµÛÛÁéõ Ü¶ÛþùÉÛÛë¶Ûà ÍÛÛ¬ÛÙïõ©ÛÛ ©Û¸ÛÛÍÛÈÛÛ. 

  (b) ¼Ûé ¾ÛµýÛïõÛé¶Ûà ÍÛÁõ”ÛÛ¾Û¨Ûà ïõÁõÈÛÛ. 

  (c) ¼Ûé ÍÛ¾ÛÜÌ¤ø¶Ûé ©Û¸ÛÛÍÛÈÛÛ. 

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 

  When the analysis of variance method is used 

  (a) To test significance of two or more than two sample. 

  (b) To compare two means. 

  (c) To examine two population. 

  (d) None of the above. 

 

 (11) ÜÈÛ˜ÛÁõ¨Û¶Ûé ïéõ¤øÅÛÛ –Û¤øïõÛé¾ÛÛ× ÈÛÐêü˜Ûà ÉÛïõÛýÛ ™öé ? 

  (a) ªÛ¨Û  (b) …éïõ 

  (c) ¼Ûé  (d) ¸ÛÛ×̃ Û 

  In how many units variance can be divided ? 

  (a) Three (b) One 

  (c) Two  (d) Five 
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 (12) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÍÛÁõÛÍÛÁõà¶ÛÛ ©ÛºõÛÈÛ©Û¶Ûà ¸Ûó¾ÛÛ¨Û ½ÛæÅÛ SED ¶Ûä× ÍÛæªÛ ™öé ?  

  The formula of the standard error of the difference is  

  (a) SED = SW 
1

N1
 + 

1

N2
  

  (b) SED = SDW 
1

N1
 + 

1

N2
 

  (c) SED = 
1

N1
 + 

1

N2
  

  (d) SDW = SED 
1

N1
 + 

1

N2
 

 

 (13) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ¼ÛÛ¤ÙøÅÛé¤ø ïõÍÛÛé¤øà¶Ûä× ÍÛæªÛ ™öé ? 

  (a) V = 
2.3026

C
 [(N – K) log 

––
MS – ∑df (log MS)] 

  (b) V = 
2.3026

C
 [(K – N) log SST – ∑df (log SST)] 

  (c) V = 
2.3026

C
 [(SST – SSBT) log SSBT – ∑df (log SST)]  

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 

 

  The formula of Bartlett’s test is  

  (a) V = 
2.3026

C
 [(N – K) log 

––
MS – ∑df (log MS)] 

  (b) V = 
2.3026

C
 [(K – N) log SST– ∑df (log SST)] 

  (c) V = 
2.3026

C
 [(SST – SSBT) log SSBT– ∑df (log SST)]  

  (d) None of the above 
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 (14) Ü¶ÛþùÉÛÙ ©Û¸ÛÛÍÛ …é¤øÅÛé ÉÛä× ? 

  (a) ýÛ´ù˜™ö ©Û¸ÛÛÍÛ (b) ÍÛ¾ÛÜÌ¤ø¶ÛÛ þùÁéõïõ …éïõ¾Û¶Ûà ©Û¸ÛÛÍÛ 

  (c) ÍÛ¾Û•Ûó ©Û¸ÛÛÍÛ (d) ÍÛ¾ÛÜÌ¤ø¶ÛÛ …¾Ûäïõ …éïõ¾ÛÛé¶Ûà ©Û¸ÛÛÍÛ 

  Sampling study means 

  (a) Random study  

  (b) Study of each and every unit of a population 

  (c) Total study 

  (d) Study of only some units of population 

 

____________ 
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